MCQs : TRIANGLES



Question 1.
In the given figure, £T and £B are right angles. If the length of AT, BC and AS (in centimeters) are 15, 16, and

17 respectively, then the length of TC (in centimeters) is:
C
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(3) 18

(b) 16
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(d)12

Answer
Answer: (c) 19



Question 2.
In the given figure, value of x(incm) is

Answer
Answer: (b) 5



Question 3.
In the given figure AABC ~ APQR. The value of x Is

A
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o
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(@) 2.5cm

(b) 3.5¢cm

(c) 2.75cm

(d) 3cm

Answer

Answer: (d) 3 cm



Question 4.
In AABC, IfDE||BC, AD=x, DB=x—-2 AE=x+2and EC =x — 1, then value of xIs
(a) 3

Answer

Answer: (b} 4

Question 5.

The perimeters of two similar triangles ABC and POR are 60 cm and 36 cm respectively. If PO = 9 cm, then
AB equals

(a) 6cm

b) 10 cm

Answer
Answer: (c) 15¢cm



Question 6.

If AABC 1s similar to ADEF such that 2 AB = DE and BC = 8 cm then EF is equal to.
(a) 12 cm

(b) 4cm
(c)
(d)8c

Answer

Answer- (¢ 16 cm
Juestion /.

In AABC, AB =6 cmand DE || BC such that AE = % AC then the length of AD Is
(a) 2cm
b) 1.2 cm

Answer
Answer: (c) 1.5 cm



Question 8.
In the given figure DE || AC which of the following is true?
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Question 9.

AABC ~ADEF IFABE=4cm,BC=3.5cm, CA=25cmand DF = 7.5 cm, then the perimeter of ADEF is
(a) 10 cm

b) 14 cm

Answer
Answer: (c) 30 cm



Question 10.

PQ 2 AP .
In the figure PQ || BC. If BC -3 then Pg 'S
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Answer
Answer: (b) 2



Question 11,
In the given figure, AACB ~ AAPQ.If AB=6 cm, BC =8 cm, and PQ =4 cm then AQ is equal to
B P

Answer
Answer: (c) 3cm



Question 12.
ADEF ~ AABC If DE: AB =2: 3 and ar ADEF is equal to 44 square units then ar (AABC) (square unit) is
(a) 99
(b) 120
€)1’
(d) 66
Answer
Answer: (a) 99

Question 13

AABC and ABDE are two equilateral triangles such that D is the mid point of BC. Ratio of the areas of
triangle AABC and ABDE Is.

(a)2:1

(b)1:2

(c)4:1

(d)1:4
Answer
Answer: (c) 41



Question 14.

arAABC _ 9 s i
If AABC ~ APQR, arAPOR ~ 4 and AB = 18 cm, then the length of PQ is
(a) 14 cm

(b) 8 cm
(c) 10cm
(d)12cm

Answer

Answerz_(d) 12 cm



Question 15.
In the given figure AABC ~ APQR, PM is median of APQR. If ar AABC =283 cm? BC=17cm, MR =6.5cm
then the area of APQM is

A
B C Q M R

(@) 169 cm?
(b) 13 cm?
(c) 84.5 cm?
(d)

d) 144.5cm?

Answer
Answer: (c) 84.5 cm?



Question 16.

If the ratio of the perimeters of two similar triangles i1s 4 - 25, then the ratio of the areas of the similar
trianagles is

(a) 16:625

(b)2
(€)5
(d) 625:16

Answer
Answer: (a) 16 : 625



Question 17.
In the given figure, PQ = 24 cm, QR = 26 cm 2PAR =90°, PA = 6 cm, and AR = 8 cm, the degree measure of

QPR is
Q 24 ¢cm P
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R
(a) 90°
(b) 100°
(c) 50°
(d) 45°
Answer

Answer: (a) 90°



Question 18.

In the given figure the value of X is
A

Answer
Answer: (c) 8 cm



Question 19.
APOR is an equilateral triangle with each side of length Zp. If PS 1L OR, then PS is equal to

Answer
Answer: (c) \3p



Question 20.
In ALMMN, 2L = 507 and 2N = 607, If ALMN ~ APQR, then find 20

Answer
Answer: (b) 70°



121}4. If A ABC ~ A DEF such that AB = 12 cm and DE = 14 cm. Find the ratio of areas of A ABC and A DFF.
(A) 49/9

(B) 36/49

(C) 49/16

(D) 25/409

Answer

Answer: (B) 36/49
Q.5. In AABC, AB = 3 and, AC = 4 cm and AD is the bisector of ZA. Then, BD : DC is —

(A) 9: 16
(B) 4:3
(C) 3:4
(D) 16:9

Answer

Answer: (C) 3:4
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